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Техническая тематика



Уважаемый коллега, благодарим вас за интерес к нашей компании.
Мы будем рады сотрудничеству с вами!
Просим выполнить тестовое задание по «Технической тематике».
Срок выполнения тестового задания не ограничен.
Важно! В технический текстах формат перевода должен соответствовать оригиналу, со всеми картинками. Исключения - переводы под верстку. 
Файл для тестового задания прикреплен ниже:
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Тестовый перевод-технический.pdf
6.15 0210 the file isn’t same

{0210 The file isn't same [AUto | 18:24:17 |

Solution: manual page breakpoint continued processing function is not turned off, in the main page into the
manual page to open and close it, reset to zero can be normal processing.

6.16 The special area of machining zirconia crown bridge cannot be calculated
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Solution: The Angle can be adjusted in the position shown in the diagram. The machining can be calculated
by tilting the Angle so that the whole machining area can be seen from the top view.

6.17 The screw hole of the crown is not machined

Solution: it can be known that the screw hole is opened on the side, and the Angle can not be processed

in the case of five-axis linkage. You can properly rotate a little Angle and then expand the increment bias of
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the lower cutter and then process the hole by calculation.This screw hole must be marked before
typesetting calculation or it cannot be identified.

6.18 The connection rod typesetting is abnormal, resulting in the simulated error report
or the actual machining of the broken tool
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Solution: Delete the far and near middle connecting rod and. In the crown bridge layout, the connecting
rod should not be placed where the crown is connected with the crown, otherwise it will lead to poor
processing and poor grinding of the connecting rod.

6.18 The alarm will not disappear when the equipment is turned on
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Solution: click the "reset" button on the main page to reset to zero. If there is no "reset" warning, turn on the
switch above as "1" option on the back page, and return to the main page to reset again.
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